X

=

o
&

<o @> (rad)
< dcotl>)
o
=
a1

bl

o
LA LR RN RN LN RN LR LR

-
O | e R R R EEEEEEEEEEE] X RER EEEEEEEE -0.15 b o AR R R EEEEREEEE" R R
Fy
N T T 0.2 M AT Y PRI B TR
S UL R AL T T 1. ... 2 o0 41 NI R
5 B s T E 141
i 4 :
-------------- 1+ +: L o -+ R
H -+~ +T+ .
1 T
---------------- 0.8fH-+ : B

2 3 —1
TPlpoT (PCA t%obeamlinélf) 10 1

—=— DQM_mkFit_TToriginal

—— DQM_mkFit_TTNEWHS_ALLITERS

100r

< 00, > (M)
<od, > (um)

..............................................

- +++-"f¢’-‘%"-‘*.--;’-nu +—¢-*-,- RN EEEERER

....................................

—1 —1 2 3
10 ! 10 ! TPlp?T (PCA tjbobeamliné'f)

o
> : :
- . .
N Tttt F M
- N
Q ) T 1N
=
= : :
o .
O """"": """""" l' """""" B o
v : -
S A fi I
R L e T R T v 2F O EEEEEEE
. et
Lt R [ I (O Y A
..........................................
*
A, R [ (O Y
| ol
8 1 71 :
= + B .
© 11T 1 B
@ H O e 3 5 O
h 1T+
B +
bt LR




	Contents
	Page 1


